
FORMULAIRE DE TRIGONOMÉTRIE

RELATIONS GÉNÉRALES

cos2(x)+sin2(x)= 1

tan(x)= sin(x)
cos(x)

cotan(x)= cos(x)
sin(x)

1+ tan2(x)= 1
cos2(x)

1+cotan2(x)= 1
sin2(x)
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SYMÉTRIES

sin(−x)=−sin(x) cos(−x)= cos(x)
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FORMULES D’ADDITION

sin(a+b)= sin(a)cos(b)+cos(a)sin(b)
cos(a+b)= cos(a)cos(b)−sin(a)sin(b)

tan(a+b)= tan(a)+ tan(b)
1− tan(a)tan(b)

sin(a−b)= sin(a)cos(b)−cos(a)sin(b)
cos(a−b)= cos(a)cos(b)+sin(a)sin(b)

tan(a−b)= tan(a)− tan(b)
1+ tan(a)tan(b)

FORMULES DE DUPLICATION

sin(2x)= 2sin(x)cos(x)

cos(2x)= cos2(x)−sin2(x)

= 2cos2(x)−1

= 1−2sin2(x)

tan(2x)= 2tan(x)
1− tan2(x)

Si on pose t = tan
( x
2

)
sin(x)= 2t

1+ t2

cos(x)= 1− t2

1+ t2

tan(x)= 2t
1− t2

TRANSFORMATION DE PRODUIT EN SOMME
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(cos(a−b)−cos(a+b))
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(sin(a+b)+sin(a−b))
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